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Anu sold an article for ₹480 at some profit. Had she sold it for ₹400. then there would have been a 
loss equal to one-third of the initial profit. What was the cost price of the article?
अनु ने कुछ लाभ पर एक वसु्तको ₹480 में बेचा। यदि उसने उसे ₹400 में बेचा होता, तो प्रारम्भिकलाभ
के एक-दतहाई के बराबर हादन होती। वसु्त का कुल लागत मूल्यक्या था?

1)430
2)450
3)420
4)425



A loan has to be returned in two equal yearly instalments each of ₹44,100. If the rate of interest is 
5% p.a., compounded annually, then the total interest paid is:
दकसी ऋणको रु. 44,100 की िो बराबर वादषिक दकश्ोोंमें वापसकरना है। यदि वादषिकरूप से
चक्रवृम्भिब्याजकी िर 5% प्रदत वषि है तो भुगतान दकया गया कुलब्याज है:

1)5840
2)6000
3)6200
4)6280



Two pipes A and B can fill a cistern in 37 1/2 minutes and 45 minutes respectively. Both pipes are opened, 
the cistern will be filled just in half an hour, if the pipe B is turned off after?

िो पाइप दकसी टोंकी को क्रमश: 37 1/2 दमनट तथा 45 दमनट में भर सकते हैं। यदि िोनो ों पाइपो को खोल दिया
जाता है तो टोंकी को ठीकआधे घोंटे मे भरने के दलए B को दकतने समय बाि बन्दकरना होगा?

1)15
2)10
3)5
4)9



A boat goes 30 km upstream and 44 km downstream in 10 hour. In 13 hour, it can go 40 km upstream and 55 
km downstream. The speed of the boat in still water is.
एक नाव 30 दकमी. धारा के प्रदतकूल जाने में और 44 दकमी. धारा के अनुकूल जाने में 10 घोंटे लेती है। 13 घोंटे में
यह 40 दकमी. धारा के प्रदतकूलऔर 55 दकमी. धारा के अनुकूल जाती है। नाव की गदत म्भथथर जल में क्या होगी?

1)3
2)4
3)8
4)NOT



A is more efficient than B and they together can complete a work in 24 days. Had A done 50% of 
the work and then B, the remaining work, then the work would have been done in 50 days. B 
alone will complete 40% of the same work in?
A, B से अदधक कुशल हैऔर वे दमलकर एककायि को 24 दिनो ों में पूरा कर सकते हैं। यदि A ने
50% कायि दकया होताऔर दिर B, शेष कायि करता, तो कायि 50 दिनो ों में पूरा हो जाता। B अकेले
उसी कायि का 40% पूरा करेगा?

1)16
2)24
3)21
4)20



Marked price of an item is Rs 200. On purchase of 1 item discount is 22% on purchase of 4 items discount is 
33 % Rabia buys 5 items, what is the effective discount?
एक वसु्त का अोंदकत मूल्य 200 रू है। एक वसु्त कीखरीि पर 22% छूट दमलती है, 4 वसु्त की खरीि पर 33% 
छूट दमलती है। रादबया 5 वसु्तखरीिती है, तो उसे दकतनी प्रभावी छूट दमलेगी?

1)35
2)30.8
3)24
4)NOT



In what ratio sugar at Rs 30/kg should be mixed with sugar at Rs 45/kg so that on selling the mixture 
at Rs 42/kg there is a profit of 20%?
30 रू. प्रदत दक.ग्रा. की चीनी को 45 रू. प्रदत दक.ग्रा की चीनी के साथ दकसअनुपात में दमलाया जाए, 
दजससे इस दमश्रणको 42 रू. प्रदत दक. ग्रा. में बेचने पर 20% का लाभ हो?

1)2:1
2)5:2
3)2:3
4)3:7



If (x/5) +(5/x) = -2, then what is the value of x cube ?
यदि (x/5) +(5/x) =-2 है, तो x cube का मानक्या होगा?

1)-125
2)5
3)1/125
4)625



The perimeters of two similar triangles are 30 cm and 20 cm respectively. If one side of the first 
triangle is 9 cm. Determine the corresponding side of the second triangle.
िो समरूप दिभुजो ों के पररमाप क्रमशः 30 से०मी०और 20 सेमी है। यदि पहले दिभुजकी एक भुजा 9 
से०मी० लोंबी है। तो िूसरे दिभुजकी भुजा की लोंबाई ज्ञात करें।

1)15
2)6
3)13.5
4)5



If the 8-digit number 2074x4y2 is divisible by 88. then the value of (4x+3y) is:
यदि 8-अोंको ोंकी सोंख्या 2074x4y2,88 से दवभाजय है, तो (4x+3y) का मान हैं:

1)49
2)36
3)42
4)45



What sum will give Rs. 244 as the difference between simple interest and compound interest at 10% 
in 1 1/2 years compounded half yearly?
वह रादश ज्ञात कीदजए, दजस पर 1 1/2 वषों में में 10% ब्याज िर पर अधिवादषिक जोडे गए चक्रवृम्भि
ब्याजऔरउसके साधारणब्याजका अोंतर 244 रू. होगा।

1)40000
2)36000
3)32000
4)28000



A sum of Rs. 12,000, deposited at compound interest becomes double after 5 years. How much will 
it be after 20 years?
12,000 रू. की जमा की गई रादश चक्रवृम्भिब्याज से 5 वषों में िुगुनी हो जाती है। यह रादश 20 वषों में
दकतनी हो जाएगी।

1)144000
2)120000
3)150000
4)192000



Bunty had candies and chewing gums in his sweet box in the ratio 7 : 13 After he has eaten 8 candies and 11
chewing gums the ratio became 1:2 How many candies does he have now?
बोंटी के दमठाई के दिबे्ब में कैण्डीज़और चु्यइोंग का अनुपात 7 : 13 है। उसके 8 कैण्डीज़और 11 चु्यइोंग गम्सखा
लेने के बाि अनुपात 1 : 2 हो जाता है। उसके पास दकतनी कैण्डीज बची हो ोंगी?

1)65
2)35
3)54
4)27



A does half as much work as B in three-fourth of the time taken by B. If together they take 18 days to 
complete the work, how much time shall B take to
do it alone?
B द्वारा दलए गऐ समय के 3/4 समय में, A उसकाआधा कामकरता है। यदि िोनो ों दमलकर 18 दिनो ों में काम
खत्मकरते हैं, तो B अकेले कामको दकतने दिनो ों में खत्मकरेगा?

1)30
2)35
3)40
4)45



A telegraph post is bent at a point above the ground. Its top just touches the ground at a distance of 8√3m 
from its feet and makes an angle of 30° with the horizontal. The height (inmetre) of the post is
एक टेलीग्रािखोंभा जमीन के ऊपर एक दबोंिु पर झुका हुआ है। उसका शीषि उसके पाि से 8√ 3 मी. की िूरी
पर जमीन कोस्पशि करता हैऔर कै्षदतज पर 30° का कोण बनाता है।

1)12
2)16
3)18
4)24


